F41EILEJIOCY 1271t vihy7 FBEZKiKFRAXE

FriK R
HRREBEERKIKS
ARA—FYR b
#No. 263 ZF 4x100m A KL—YL— FE 5H# HAZ:EEH  3:50.28
CcS _ £508%  3:59.80
K  F—LE m o= k& PE
AR
148
1
2
3 RERKiKFR X B 2699 ¥ HMFE VAELREUY 3
0SAKA. SG 2702 HiER TR 49k H/h 12
2698 At fE3Y SLISELY, =3
2701 i BHE Thhy TEI 3
4 BEFISS B OE 1101 @A Fhk DZ MY =2
79" L3SS =15 1099 FXK #BF YIZT 194 =3
1100 Ll Fi@ ™Y+ Fy =
1098 BEAR B E VY 53
b A T UEH W &R 2484 HlEg ET|E bhyv 74+ =1
{b3vFant 2485 J\K =5 Y+ Uk f13
2482 e E= 3% Y vtm 52
2480 XK Z# % 744 =3
6 FILIER Il 3059 s % Y Ehl =3
UYAEEL R =R 3061 thiE Hik ht 7% =
3062 FEA X EIWER =
3060 HPEFESK Arth bt =2
7
8

SEIKO Page: 1/5 Printing: 2019/03/30 10:46:32



F41EILEJIOCY 1271t vihy7 FBEZKiKFRAXE

FRIKER B
RRREEEKIKS
ARA—FYR b
#No. 263 ZF 4x100m A KL—YL— FiE AAREEEk  3:50.28
CcS _ £508%  3:59.80
K  F—LE B k& PE
S
248
1 EBHKREES Z Al 2115 BEHBRE h3F Uit =1
MIZUHO =15 2116 BB BT M b =1
2113 FH %A MOty =1
2112 K& A IR 42 pIF =2
2 JSS/N\EF B = 1362 FHH &6 199" Wh =1
JSSNFESY 1360 EFE RE #4hy AR B =3
1361 K+ HE ISR Y =2
1363 FWEEALF 77 113 th3
3 HEXPERS Z A 2155 K& K 2 14 =2
CHUKYO o5 2159  HE TE 7ht ++ =1
2156 i Bx hv 3t =1
2158 ¥ W&o Y y) 18 =1
4 (NVERKRR B = 949 =K KE Ln% 3t =3
ARV Y 952 BEH ZE 774 Fhn th3
948  JIBHEH AT 33 =3
950 £k £o) AR EF /Y3 =3
b tuMNAE F OE 719 B  EE ) hly 3
Ay 720  HIEDHE YIP #4h 2
718 sEl 3 MYY /Y ==K}
717 B3 =R DAFAT 3h =1
6 H®ESC B = EiE
F%3%9SC
17 ®WEDCHkE B X 1290 ZEH #%=F e 19 52
DCH#H34" 4 B 1289 ER HAtH VEUVIE = 52
1291 WX #HZE vEh 291 =2
1292 tEHLEH 9ING 313 =1
8 E— rRIF ’ & 3420 HH EHFH 4th Uik =2
Bth #+ 3421 /MBS 3 1% 74 3
3418 FHER BTE EVAVINE =3
3419 & ftE YROH =2
Page: 2/5 Printing: 2019/03/30 10:46:33

SEIKO



F41EILEJIOCY 1271t vihy7 FBEZKiKFRAXE

FriK R
HRREBEERKIKS
ARA—FYR b
#No. 263 ZF 4x100m A KL—YL— FiE HAZ:EEH  3:50.28
cs _ £58% 315980
K F—LA m o= KE FE
AR
RE T
1 EIWLSCEE L E W 1948 ZR BHE YINg 7H3 =3
Eh VMY 1950 &E EM vt 39 12
1951 Wi B3 Y3409 MVt 12
1949 K O= YA YR =2
2 R4 UKE B E 423 =i 5 Attt 52
SWitst 425 A AW INWAEY! ==K}
424 KH EF k8 nbh $3
422 b XF thh3 734 52
3 4 b Ed N 1729 BmA Tt 7Y ®h F3 52
ASVRLIY] 1731 ™%k oo vy 933 =2
1733 £\ EE N5 31 i3
1730 FEEEANE YN 193 =2
4 v EBE m E 693  HEMT = DIk VA =1
SWaAAA 691 KK =#k TH+ vtn =3
694 FELDH 77399 I3 2
696 FAEF EF 147 19y 2
b J\BESC T I 3259 =% BF 33y 793 52
¥7413SC 3261 R EM 123 b =1
3260 EH O E=E E74 31% 52
3262 = $h IV b 413
6 4 < X & 2598 hith UEEE 1F9" 79h =1
1y 2595 #&AH BE e ot =2
2593 R BgEk DL =3
2599 B EEE 42870 TH ==K]
7 RAYS E W 3155 HEd TEH 43h hik 51
vy 3154 HE BAF 43% 791 =1
3153  Fik EE 7% 19 =2
3156 Fik FE TIth Fnt 3
8 aF== T & 2966 =EEF NG 3 =K}
PR 2963 [MEHE FE " af =2
2965 BKEDH 19 93 =1
2964 A F=5 h34 1%k =1
Page: 3/5 Printing: 2019/03/30 10:46:35

SEIKO



F41EILEJIOCY 1271t vihy7 FBEZKiKFRAXE

FriK R
HRREBEERKIKS
ARA—FYR b
#No. 263 ZF 4x100m A KL—YL— FiE HAZ:EEH  3:50.28
CcS _ £508%  3:59.80
K F—LA m o= KE FE
AR
A48
1 Blxz=xES Z A0 2123 (FEAZEAXL 135 %% =1
SUGIYAMA =21 2121 I RER W v =1
2122 FB 1= 7hY TY =1
2120 XK EYF I/Eh 02 =2
2 WAESS X 2748 HE IF AN YEY fi3
E3h4SS 2743 R EFH YvEh 37 =3
2747 FEF FHE 9/ ¥ K]
27142 %R BE M3 bt =3
3 Me=wy = R 3039  J\UAREH YEh 3 =2
MGZyYy =15 3041 ER &E 4243 1 =1
3040 #F EZ fun 1 51
3042 I ic: 9z Y =1
4 XESS 1T 188 R =& hth 743 ==
FUb 9SS 186 /NRFERIE 3 18 th2
185 B4 =Z25 % abt =1
184 g B by 1f =1
5 I SCHRHE E % 1845 k% ® 9 475 =2
1SC14%° 1847 EH OB ¥4 7Y 3 2
1846 wE 2= Y'Y a3 §13
1844 SHFEYH 13%% Y7 =2
6 IR R B = 1211 ik #E Mth 1k 12
Wi b 1207 fER AZE A" 13t §i3
1209 S5 &S ay/ Wk 2
1206 SHEARE v/ )h =1
7 BEXILEE X W 2524 HH EF 7H4 =1
VL VE! =15 2523 XH BTBE Funh T4t =1
2521 EEARMATHEE LEZIN V5] =2
2522  #® &% MY I 52
8 HmEIKH #MZE 1421 &K #B Y3RT #5 =2
VEVIPBEYY =8 1418 Al RBE Y 1t =3
1422 HHZZA f4 13m =1
1419 Al E#E 194 % 319 =3
Page: 4/5 Printing: 2019/03/30 10:46:37

SEIKO



F41EILEJIOCY 1271t vihy7 FBEZKiKFRAXE

FRIKER B
RRREEEKIKS
ARA—FYR b
#ENo. 263 ZF 4x100m A FL—YL— P8 BAEEEE  3:50.28
CcS _ £508k  3:59.80
K  F—LA B K& P
S
bl
1 ERMS S 2 M 2091 FEEEEF 1} 7hY) 413
NYFaSss 2087 JKEF =5 2/ AR =3
2088 I BHRF Y4 ik =2
2090 Ffoh kS JTh ik 51
2 ElE Z 2303 =3@ D 397 13 =2
FIH729 =X 5 2306 tEY AN 155" Yok =1
2305 JHHELTE Ngg 3tk =
2301  PBEE B 54 3t =2
3 F#EEKE W OB 2448 B MHE N534 I =1
MIR{D 2447 EX BB IPEh 2193 =1
2446 ;2 HBX M 14 =2
2449  FHIE  Jmk VAN E 3
4 EEZEER £k & 2851 &y BRER ey #5935 =2
AVDHIY =X 5 2849 ELE BB V) NES] =2
2847  #AT BER ZYh3 Y47 =
2848 BM BX AN Ay 14 =3
5 4 uny7°SC wmE| 1672 HWFE {Ex ot =2
4 vyny7°S =R 1671 FTHA &HF EVZ I VY =2
1677 {EARARELH #H£ 13 =1
1674 KA #F HoF $a1% =2
6 SAFRK #wl 1544 iy FHE hh vty =3
SAYYY" 39 1547 ZB%H FiF #9/ Y3 th2
1546 BJIIE< 5 Mwh9 #4935 ==K}
1543  EHEFEE h3LT HFI =3
7 NECGSCiEm QO B 1793 JIIAKE*X 175 13 =2
NECGSC M 1797 ¥ ¥E 1) %+ ==K]
1794 L&KL 3H YEM J03 =1
1795 F [BFZEF 843 t13 =1
8  ZEYO-ST =5 A 3283 XkIHEEE SO =1
ZEYO-ST 3282 WK E=x WE ak3 =2
3285 HIEF &0 I/ %3 3
3284 LT HEF ¥4 13 ==K}
Page: 5/5 Printing: 2019/03/30 10:46:40

SEIKO



